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1 By measuring the angles below, state the bearings of:

1(a) 𝐴 From 𝐵

[1 mark]

Answer °

1(b) 𝐵 From 𝐴

[1 mark]

Answer °

Turn over ►
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2 A diagram of a bearing is shown below. 

By measuring the diagram given:

2(a) State the bearing of 𝐵 from 𝐴.

[1 mark]

Answer

2(b) State the bearing of 𝐴 from 𝐵.

[1 mark]

Answer

2(c) Find the distance between 𝐴 and 𝐵.

[1 mark]

Answer km

Turn over ►
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3 The location 𝐶 is on a bearing of 140° from 𝐴.

The bearing of 𝐶 from 𝐵 is 250°

Find the location 𝐶 and mark it on the diagram below.

[3 marks]

Turn over for next question

Turn over ►
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4 A map with a scale is given below. 

Give the bearings and the distance for the following journeys.

4(a) Aberdeen to Flamborough

[1 mark]

Bearing = Distance =

4(b) Birmingham to Crewe

[1 mark]

Bearing = Distance =

4(c) Durham to Crewe.

[1 mark]

Bearing = Distance =

Turn over ►
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5 Starting at point 𝐴, Freya makes a journey as follows:

8 km on a bearing of 135° to 𝐵

4 km, on a bearing of 180° to 𝐶

6 km on a bearing of 315° to 𝐷

5(a) Use the space below to draw a suitable diagram to represent her journey. 

[3 marks]

5(b) Freya wants to return to 𝐴.

What is the bearing of 𝐴 from 𝐷?

[1 mark]

Turn over for next question

Turn over ►
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6 The bearing of 𝐶 from 𝐴 is 190°, and 𝐶 is 5 km from 𝐴.

The bearing of 𝐷 from 𝐵 is 270°, and 𝐷 is 7 km from 𝐴.

6(a) Draw points 𝐶 and 𝐷 on the diagram below using the information given. 

[2 marks]

6(b) Work out the bearing of C from D, and give the distance they are apart. 

[2 mark]

Turn over for next question

Turn over ►
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7 George needs to take the route as follows.

6 km on a bearing of 080° from 𝐴 to 𝐵

5 km on a bearing of 160° from 𝐵 to 𝐶

The scale is 1.5 cm = 1 km

However, George uses an incorrect scale of 1 cm = 1 km and ends up at 𝐷.

What bearing and distance does he need to take to end up at the correct destination 

of 𝐶?

[4 marks]

Bearing = 

Distance = 

End of Questions

END
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